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QUESTION ONE

Define the following financial markets and give two examples of securities that trade in each.
(Total Marks 25)

i.  Money market 5 Marks

iil.  Capital market » 5 Marks

iii.  Secondary Market 5 Marks

iv.  Over the Counter Market . 5 Marks

v.  Primary Market | 5 Marks
QUESTION TWO

(a) Describe any five risks associated with investing in Bonds (5 Marks each)

(Total Marks 25)

QUESTION THREE

a) The table below shows ratio analysis for Gillette Company for the years 1992-1996.




Based on the trends shown, briefly describe and draw conclusions on the company’s
performance with respect to

i. Liquidity (4 marks)

ii.  Operating profitability on assets (4 marks)

iii.  Use of Debt financing (4 marks)

iv.  Return on equity (4 marks)
b) Briefly define the following financial ratios

i. Interest coverage ratio (3 marks)

ii.  Stock turnover ratio ' (3 marks)

iii.  Net profit margin (3 marks)

(Total 25 Marks)

QUESTION FOUR

(Show all workings)

(a) Mr X deposits E100, 000 in a savings bank account today, at 5% simple interest for 5

years. What is his accumulated interest (2.5 Marks)
(b)Mr X invested E40, 000 today, for a period of five years. Calculate the future value if his
required rate of return is 10% . {4 Marks)

(¢) Suppose you deposit E100, 000 with an investment company which pays 10% interest
with semi-annual compounding. What is the total amount at the end of 5 years
(4 Marks)
(d)Mr. A. deposits at the end of each year E2, 000, E3, 000, E4, 000, E5, 000 and E6, 000 for
five years respectively. What is his series of deposits value at the end of five years

assuming 6% compound interest (4 Marks) .

(e) A borrower offers 16% rate of interest with quarterly compounding. What is the effective
rate of interest (2.5 Marks)

(f) What is the present va/ué of E100, 000 receivable dftér 60 years if the investor’s required

~ rate of interest is 10% (4 Marks)

(g) Calculate the present value of E10, 000 received in perpetuity assuming a discount rate
of 12% | (4 Marks)

(Total Marks 25)




